CCGPS Coordinate Algebra EOCT UNIT 5: TRANSFORMATIONS IN THE COORDINATE PLANE

1) A regular pentagon is centered about the 2) A parallelogram has vertices at (0, 0), (0,6),

origin and has a vertex at (0, 4). 4, 4), and (4, -2).
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parallelogram to itself?

Which transformation maps the pentagon to

itself? A. areflection across the line x =2

B. a reflection across the line y =2
C. arotation of 180° about the point (2, 2)
D. a rotation of 180° about the point (0, 0)

A. areflection across line m

B. a reflection across the x-axis

C. a clockwise rotation of 100° about the origin
D. a clockwise rotation of 144° about the origin

3) Which sequence of transformations maps

AABC to ARST ?
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A. Reflect AABC across the line x = —1. Then
translate the result 1 unit down.

B. Reflect AABC across the line x = —1. Then
translate the result 5 units down.

C. Translate AABC 6 units to the right. Then
rotate the result 90° clockwise about the
point (1, 1).

D. Translate AABC 6 units to the right. Then
rotate the result 90° counterclockwise about
the point (1, 1).
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CCGPS Coordinate Algebra

UNIT 6: CONNECTING ALGEBRA AND GEOMETRY THROUGH COORDINATES

1) An equation of linea is y = —% x—2.

Which is an equation of the line that is
perpendicular to line a and passes through
the point (-4, 0)?

1
A, y=—x+2
Y 2

1
B.y=—x+8
Y 2

C.y=2x-2
D.y=2x+8

2) Parallelogram ABCD has vertices as
shown.

L C(3,-4) |

Which equation would be used in proving
that the diagonals of parallelogram ABCD
bisect each other?

A JB=1)? +(2-0)° =/1=3)* +(0+4)°
B. B3+1)>+(240)> =(1+3)* +(0—4)°

C. J(-1-1)? +(4=0)* =,J1=3)* +(0+4)°

D. J(—1+1)% +(4+0)* = /(1+3)> +(0—4)

3) Given the points P(2, -1) and Q(-9, -6),
what are the coordinates of the point on
directed line segment PQ that partitions PQ

in the ratio % ?

A _2_)
5

B _2,_3j
5

o [-3-4)
3 3

(28]
3 3

4) Triangle ABC has vertices as shown.
What is the area of the triangle?

A

AL, 4 |

A T2 square units
B. 12 square units

C. +/288 square units
D. 24 square units
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